
Name: 　　　　　　　 Date: 　　　　　　 Score: 　　　

Multiply decimals by negative powers of ten

7759.9 × 0.01 = ________ 8492.6 × 0.0001 = ________

9592 × 0.001 = ________ 9815.1 × 0.0001 = ________

7790.6 × 0.01 = ________ 7183.3 × 0.01 = ________

4996.5 × 0.1 = ________ 3144.2 × 0.001 = ________

8431.2 × 0.0001 = ________ 9066.9 × 0.0001 = ________

7397.3 × 0.0001 = ________ 1518.5 × 0.01 = ________

8873.7 × 0.01 = ________ 8648 × 0.01 = ________

7322.7 × 0.001 = ________ 4654.5 × 0.1 = ________

6412.3 × 0.0001 = ________ 7030.5 × 0.1 = ________

6785.5 × 0.01 = ________ 9982.4 × 0.001 = ________
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Name: 　　　　　　　 Date: 　　　　　　 Score: 　　　

Multiply decimals by negative powers of ten

7759.9 × 0.01 = 77.599 8492.6 × 0.0001 = 0.84926

9592 × 0.001 = 9.592 9815.1 × 0.0001 = 0.98151

7790.6 × 0.01 = 77.906 7183.3 × 0.01 = 71.833

4996.5 × 0.1 = 499.65 3144.2 × 0.001 = 3.1442

8431.2 × 0.0001 = 0.84312 9066.9 × 0.0001 = 0.90669

7397.3 × 0.0001 = 0.73973 1518.5 × 0.01 = 15.185

8873.7 × 0.01 = 88.737 8648 × 0.01 = 86.48

7322.7 × 0.001 = 7.3227 4654.5 × 0.1 = 465.45

6412.3 × 0.0001 = 0.64123 7030.5 × 0.1 = 703.05

6785.5 × 0.01 = 67.855 9982.4 × 0.001 = 9.9824
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